
2 – Ram BOP Stack 
2M  - 3M  - 5M   

 
Accumulator     Annular BOP    Company =  ________________ 

              Lease =  ___________________ 
MAKE =  _________________________  MAKE =  __________________  Well =   ____________________ 

MODEL #  = ______________________  SIZE = ________”, ________ psi  

SIZE OF ACCUMULATOR = _________  MODEL = __________________   H C R VALVE 
# OF BOTTLES =  _________________         MAKE = ___________________ 

CAPACITY OF BOTTLES = __________  RAM TYPE BOP    SIZE =  ____________________ 

BLEED OFF TEST PRESSURE = _____  MAKE = ___________________  MODEL = __________________ 

FUNCTION TEST PRESSURE = ______  SIZE = _________”, _______ PSI  

RESERVOIR CAPACITY = ___________  MODEL = __________________ 

 
Contractor = ________________      Rig = ______________________ 

  GALLONS TO CLOSE BOP’S 
   

__________ = ANNULAR BOP    

         +      

__________ = (_______ X _____ RAMS)   

        +      

__________ = H C R VALVE (OPEN)   

        =        

__________ = SUBTOTAL (Gallons to Close BOP’s 
                      & Open H C R Valve)  

       x 2 Multiply Subtotal Above x2 for   
       or  3000 psi Accumulator System, or  
       8  x 8 for 1500 psi System.  

    _____ x ____ = _______ 
         

_____ =  TOTAL = Gal. Req. w/1200 psi on Manifold  
for 3000 psi System or 950 psi on Manifold  
for 1500 psi System 



CAPACITY OF BOTTLES = __________  RAM TYPE BOP    SIZE =  ____________________ 

# OF BOTTLES =  _________________         MAKE = ___________________ 

BLEED OFF TEST PRESSURE = _____  MAKE = ___________________  MODEL = __________________ 

3 – Ram BOP Stack 
5M  - 10M  - 15M 

 
Accumulator     Annular BOP    Company =  ________________ 

              Lease =  ___________________ 
MAKE =  _________________________  MAKE =  __________________  Well =   ____________________ 

Contractor = _____________________ 
     
Rig # = _________________________ 

SIZE OF ACCUMULATOR = _________  MODEL = __________________   H C R VALVE 

FUNCTION TEST PRESSURE = ______  SIZE = _________”, _______ PSI  

RESERVOIR CAPACITY = ___________  MODEL = __________________ 

MODEL #  = ______________________  SIZE = ________”, ________ psi  

__________ = SUBTOTAL (Gallons to Close BOP’s  
       & Open H C R Valve) 

__________ = (_______ X _____ RAMS)   

 

  GALLONS TO CLOSE BOP’S  

  
__________ = ANNULAR BOP 

         + 

        +       

__________ = H C R VALVE (OPEN) 

        = 

 
       x 3 Quick Calculation – Multiply 

Subtotal Above x 3.   
         _____ x 3 = _______ 
 
_____ =  TOTAL = 50% Safety Factor with  

1200 psi remaining on manifold for  
3000 psi Accumulator System 


